DELHI PUBLIC SCHOOL JAMMU
Revision Sheet for Cycle Test 1 (2018-19)
Class-XI Subject — Chemistry

TOPICS:
1. Some Basic Concepts of Chemistry.
2. Structure of Atom.
3. Classification and Periodicity of Elements.
4. Chemical Bonding.

SECTION A (VERY SHORT ANSWERS)

Q.1.  What is the SI unit of mass? How is it defined?

Q.2.  Define the term limiting reagent.

Q.3.  What are metalloids? Give an example.

Q.4.  Calculate the number of electrons which will together weigh one gram?

Q.5.  What is the lowest value of n that allows ‘g’ orbital to exist?
SECTION B (SHORT TYPE QUESTIONS)

Q.6.  Calculate the mass percentage of different elements present in sodium sulphate (Na,SO,4)?

Q.7.  How much copper can be obtained from 100 g of copper sulphate?
Q.8.  Write the electronic configuration of the following:

a)Mg** b)Zn

c)0* d)Cu
Q.9.  Explain Aufbau’s rule with diagram?

Q.10. a) How many subshells are associated with n=4?
b) How many electrons will be present in the subshells having ms value of -1/2 for
n=27
Q.11. Write the general electronic configuration of d- and f- block elements?
Q.12. Draw the Lewis dot structure of the following:
a)C,H,
b)NO,
C)C02
d)H,SO,,

SECTION C(LONG ANSWERS)

Q.13.  Determine the molecular formulae of oxide of iron and oxygen are 69.9 and 30.1
respectively. Given that the molecular mass of iron oxide is 159.8 and atomic masses:
Fe= 55,85amu and O= 16amu?

Q.14. Explain the following terms:
a)Molarity
b)Molality
c)Mole fraction

Q.15. Would you expect the second electron gain enthalpy of O as positive, more negative or less

negative than the first? Justify your answer.




Q.16. a)What do you mean by formal charge of an atom? Explain with an example.
b)What are isoelectronic species? Give examples.
Q.17. What do you mean by hydrogen bonding?Explain its types with suitable examples.
Q.18. Although both CO, and H,0 are triatomic molecules,the shape of H,O is bent while that of CO, is linear.
Explain this on the basis of dipole moment.
Q.19. Among the following pairs of orbitals,which orbital will experience the larger effective nuclear charge:
a) 3p and 4s
b) 6s and 4f
¢) 3d and 4s

SECTION D (VERY LONG ANSWERS)
Q.20. What is meant by the term bond order? Calculate the bond order of: N,, He,, O,", and C,?
Q.21.50 kg of N, gas and 10 kg of H, gas are mixed to produce NHj; gas. Calculate the ammonia gas

formed. Identify the limiting reagent in the production of NHj in this situation.




